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Chapter 10: Addition (3-digit within 1000)
i. Addition with three-digit humbers

A) 100 B) 3 20
+ 300 + 570
5 3 7 2 35

C) D)
+ 4 00 + 1 2 5
E) 4 2 9 F) 2 45
+ 1114 + 5 7 6
G) 53 7 H) 3 2 7
+ 1 3 4 + 4 1 8
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ii. Make an addition equation for each question below.
1. During the summer, customers buy 567 swim suits from
the Z store. During the rest of the year, they buy 160.
How many swim suits are sold in all?

2. On an island, there are 435 wild horses and 287 tame
horses. In total, how many horses are on the island.

3. On the first day of school, students used three
hundred small paperclips and two hundred thirty-four
large paperclips. How many paperclips did they use that
day?

iii. Balance addition equations - up to three digits

A) 145+45=120+ B) 299+34=200+
C) 224+600=[ ] +246 D) 268+13= [ ] +111

E) s84a+201=| | +254 F) 340+600=234+

iv. Choose the correct answer.
1. Last week, Terry and James went on a road trip. Terry
drove 246 km and James drove 567 km. In total, how
many km did they travel?

A.812 B.813 (C.814 D.815
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2. Which of the following is wrong?

A. 245 + 467 =712
B.742 + 134 =876
C.333+193 =526
D. 586 + 326 = 922

3. One summer, an ice cream truck driver sold 195
chocolate ice cream and 457 strawberry ice cream. In
total, how many ice cream did the driver sell in all?

A.652 B.653 C.654 D.655

4. Which of the following equations is correct?

A.579+67 =245+ 134
B.924 + 13 = 888 +55
C.767 + 35 =800+2
D. 145 + 183 = 321 + 69

5. The sum of two numbers will result in an odd number.
Which of the following can be the two numbers?
A. 123, 451
B. 579, 242
C. 369, 671
D. 169, 221
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